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. FRHARR

B I e e " " BRI
TR TR - iy _ r pEiEli
[IMWh/£] (%] [tCO2eq/%]
20.06 74.86 459 270 17.85 6.61 9.17
(1) ISR

- BABM 1344 (§rt/kWh )

- BAEEEE  51(EA)

- BEAEE | 255 (FA)

- BEATYE - 2W

- HFIMIMEREREILE S - 0W

- Fit =i 8,760 (h/& ) »1800 (h/E)

(2) BEETINE
={ 255(EA) x 24(hr) x 365(X) x 12(W)}
~{(255 (EA) 24 (hr) /Ax365 (X )x12 (W) )
+ (51(EA) x 24(hr) x 365(X) x 0.1(W))}
=26,805.6(kKWh/E) -{ 6,7014KWNh/E) + 44.68(KWh/E)}
=20,05952(KWn/%)
=20.06 ( MWh/E ) x0.229 ( toe/MWh )
= 4 59[toe/#]

(3) IRFHEEETHE
= (BRE M= [KWh/E] / RERFEEEEREKWh/E]) x 100

= (20 05952(KWh/£E) / 26 805 6(KWh/%E)) x 100[%]
=74.83[%]

(4) FETHLE
- FEHBEETAE (KWh/E ) x BAOEMN ( #t/kWh )
=20059 52 kWh/®E] x 134 4 67Tt/k\Wh]
=2 70[BRhT/F]

(5) #&FEEA . 17.85[BHFHT]

I I T N T

S RN RS 220V, 15A AC /0,000 1/7.85
e . - - 1/.85
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(6) &=
= RIRBRA (GRS ) - FETUH ( BRE%T/E )
=17.85 (BR%R ) - 270 (BRHT/E )
= 6.61[#]

(7) BESEHIE

WoRHEE ( tIc/F ) x ( ZRthAFE/MDF& )
2 50(C/%) x (44/12)(CO2eq/C)
9.17[tCO2eq/%]



